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Subject Level 1

* Note

Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark per Question.

1. Options shown in green color with a tick icon are correct.
2. Chosen option on the right of the question indicates the option selected by the candidate.

Q1 = & & e aftay A 3t B ¥ s ¥ 93w # o oty € it 39 @ g2 ofioy w7
gfeRter @A R, 3R R, ¥ 9ede aiqy #, gt @ 5w ger gaifea e § & e afwy
=1 fger wfoRiT (net resistance) =OFaA &1 3 0w AafE Sfowr aer 20 V # vE d i @
HAT-IHA, Tk a9y # FEa W 9wy A 3T oftvy B 3w Fiéa awe w6 A 3w 8 A #
R, 3 R, & @& war g7

A x1Ry=1503RR; =200
x2 Ry=1503TR; =300
v3 Ry =2003RR; =150

X4 Ry =3003Rg =150

Question ID : 75189711338
Option 1 ID : 75189745349
Option 2 ID : 75189745352
Option 3 ID : 75189745350
Option 4 ID : 75189745351
Status : Not Answered
Chosen Option : --
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Ans x 1. é
« 2. SETETET

X 3. IEAT
X 4 TSI

Q2 Fere ), TR Efter 9Ra & Teiaas I &= o 8, e Eier we F v 3

Chosen Option :

Question ID : 75189712142
Option 1 ID : 75189748568
Option 2 ID : 75189748566
Option 3 ID : 75189748567
Option 4 ID : 75189748565
Status : Answered
Chosen Option : 4
@3 The product of the HCF and the LCM of 4, 20, 28 is:
Ans X 1. 136
o 2. 560
<3 140
X 4. 564
Question ID : 75189711725
Option 1 ID : 75189746900
Option 2 ID : 75189746897
Option 3 ID : 75189746898
Option 4 ID : 75189746899
Status : Answered
Chosen Option : 2
Q4 2021-22 Fr 3w Tt W & gER, BaT 2021 75 frae Sfowe @6l & sew da Ao F
& 21,000 Fr AEF FareF F BT IaT T2
Ans * 1. 85%
2. 78%
#< 3. 80%
<4 90%
Question ID : 75189710421
Option 1 ID : 75189741683
Option 2 ID : 75189741681
Option 3 ID : 75189741682
Option 4 ID : 75189741684
Status : Not Answered
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Q.5 Each vowel in the word FLOWER is changed 1o the letrer following it in the English alphabetical order and each

consonant is changed to the letter preceding it in the English alphabetical order. If each letter, thus formed, is arranged
in alphaberical order, which letter will be second from the right?

Ans X1, P
&2 Q
X3 K
X4 E
Question ID : 75189711692
Option 1 ID : 75189746766
Option 2 ID : 75189746767
Option 3 ID : 75189746765
Option 4 ID : 75189746768
Status : Answered
Chosen Option : 2
Q6 RraffRe & & fre e &1 2022 & 951 swor ¥ FFEAaa fRar wmr ar?
Ane X sty S
v 2 Edg ST
X3 gAg &g
X 4. giAa 3faer
Question ID : 7518974124
Option 1 ID : 75189716493
Option 2 ID : 75189716496
Option 3 ID : 75189716495
Option 4 ID : 75189716494
Status : Answered
Chosen Option : 2
Q.7 REPUBLICAN 1=z # (37 3% o7 g Rt ) smrdi & @& frewr gow §, 5% &9 aeg # 3090
& e ¥, foraer 3a% @ st avtEEr @ F
Ans x 1. 4
X2 5
3 2
<48
Question ID : 7518977962
Option 1 ID : 75189731846
Option 2 ID : 75189731847
Option 3 ID : 75189731845
Option 4 ID : 75189731848
Status : Answered
Chosen Option : 3
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Q8 w4 cm T gF F 30 cm BEA I I HAGA AF F T 45 cm F Gl W W@ T §1 gEFH
sfafdm $r s S Bt

Ans X125 cm
+ 2 1.6 cm
X3 22 cm
<419 cm

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

75189711288
75189745152
75189745149
75189745151
75189745150
Not Answered

QO afy frwer AT # '+ S Y & T WER Fe R A §, AT @ A 3 T W
T BT o= E, 9 mEewe & wed T () F wuE W e e Amwem?
160x 8+ 12-6 =180 x 6 — 4 =2

Ans X 1202
x2.182
3192
xK4.172
Question ID : 75189711645
Option 1 ID : 75189746580
Option 2 ID : 75189746578
Option 3 ID : 75189746579
Option 4 ID : 75189746577
Status : Answered
Chosen Option : 3
Q10 wEmw ForEs & T Reww % 357 3vwes & B Fo s AR pMEr W B d w ww @
Ans
v wdArE | Cly 3\, 3R FUs W H, @7
X2 TAE W O, 37, R HUE W H, 3w
X3 TAlE W H, 3, AR s | Cl, 3
X 4 TAE W Hy 3w, 3k Fa3 W O, Aw
Question ID : 75189711900
Option 11D : 75189747598
Option 2 ID : 75189747600
Option 3 ID : 75189747597
Option 4 ID : 75189747599
Status : Not Answered
Chosen Option : --
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FUA: J>K=L M=N=<K O<J<P, N>Q>R
s
I.P>M
I.N<P

e X garfasss | ik T & aT g
X 2 Faer fased | @ew B
v 5 Fae TeEy || T B
X4 fasey | 3T 1l St weT

Q11 #=r faw 1w weet & a1g & sy fow arv §) w9 & wie @ ey fGr aw st F a9t @ §2

Question ID : 75189711500
Option 1 1D : 75189745999
Option 2 ID : 75189745997
Option 3 ID : 75189745998
Option 4 ID : 75189746000
Status : Answered
Chosen Option : 3
Q.12 The most essential difference between a DC and an AC generator is
Ans X 1. Higher Voltages are generated by AC generator Only
X 2. Higher voltages are generated by DC generator only
o 3.
DC generator has permanent magnet and AC has an electromagnet
X 4
DC generator uses a commutator and AC generator uses Slip rings
Question ID : 75189712232
Option 1 ID : 75189748926
Option 2 ID : 75189748925
Option 3 1D : 75189748928
Option 4 ID : 75189748927
Status : Answered
Chosen Option : 4
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Q13 A 3t B & a5 31 1 3o 72 3 ¥ 4 a9 9w A Fr g 3T 4 a¥ @ B F sy
I 201 8 ‘4aﬁmAEﬁrm3ﬁT‘4aﬁmBaﬁrm a1 st B

Are X1 36 af
X2 88 ¥
X3 46 TN
4 56 ¥
Question ID : 7518979298
Option 1 ID : 75189737192
Option 2 ID : 75189737191
Option 3 ID : 75189737189
Option 4 ID : 75189737190
Status : Answered
Chosen Option : 4
Q.14 Of the options listed below, is considered the most important contribution of the British mle in India in rerms of
infrastructural development.
Ans X 1. airways
X 2. ports
X 3. highways
« 4. railways
Question ID : 7518978560
Option 11D : 75189734239
Option 2 ID : 75189734238
Option 3 ID : 75189734240
Option 4 ID : 75189734237
Status : Answered
Chosen Option : 4
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QA5 =7 wom &, TETRS ¥ v TEg F A= & ot e ok 3 arg & i ot F arew et
FT AT FTF FTAE AT AT F| A B MAT T AT Fel B WE TAAA HITH 3o B

2 |l@ |9 |5 |S5 |[& |3 |% |# |7 |+ |4 [8 |8
dEnl wdE
T T |F |A|J |L |[E |w]|a |D |[P|R[B |U|S
e

(i) =fE 9gam a9 v vl & AR 6T O v wEw g, & 5 a (e AR A T F gy #+
WER TEe feaT STeer|

(i) ofE vger a9 ve fawa g ¥ v 3w o e dew §, O ager Ak A ot gt o
F w9 # peag B s

(i) =fe g AR T Gt aeg qof & §, o JEt O F gEl Ocd % k2 & 9 H feag A
ST

T + # 7 & B & FHE T g
Ans 1 SDPER

< 2. PERDS

x< 3 DEPSR

X + RDPRS

Question ID : 7518979854
Option 1 ID : 75189739413
Option 2 ID : 75189739415
Option 3 ID : 75189739416
Option 4 ID : 75189739414
Status : Not Answered
Chosen Option : --

Q.16 Tr=fRE & & 37 T $ B ST, F F-A=gAT sow Fe Furs’ (Nor westers) § Tafaa
A v ofeas semer 3R S

X2 OHAFEAH AT 9=

X 5. I AR AGRTSE

X4 Frer AR FACH

Question ID : 75189710475
Option 1 ID : 75189741898
Option 2 ID : 75189741899
Option 3 ID : 75189741900
Option 4 ID : 75189741897
Status : Answered
Chosen Option : 2
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Q.17

7 ReeT & Taw S, SEe aed Te € 96 @6y §, S g@d o o vger se g, Sl

FEIT T ST §E @ §, 3T oEr e o wmE g A

6:36 ::13:169 2 17 : 289 1 23 : 7

Chosen Option :

Ans * 1. 5?3
<2 533
3. 529
x4 521
Question ID : 75189711074
Option 1 ID : 75189744293
Option 2 ID : 75189744294
Option 3 ID : 75189744296
Option 4 ID : 75189744295
Status : Answered
Chosen Option : 3
Q.18 =fy weg GERMANY % @it 3Rt i 30T Fuliea % HER caaieyd far oo, & fhder st &
feufy smfEfa @i
Ans  p 1. 3
X2 4
X3 5
X4 2
Question ID : 75189711022
Option 1 ID : 75189744088
Option 2 ID : 75189744086
Option 3 ID : 75189744087
Option 4 ID : 75189744085
Status : Answered
Chosen Option : 1
Q19 ofEx=y,z>0, T (x+2)2: (y+z)2ux:y ¥, & o F 97 A7 717 AT, F&f a > 08, arfr
a~a-: ¥ 3}“
Ans 1.
X2 —Z
K3 x—y
X4 x2y2
Question ID : 75189711739
Option 1 ID : 75189746956
Option 2 ID : 75189746955
Option 3 ID : 75189746954
Option 4 ID : 75189746953
Status : Not Answered
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Ans x 1. ﬂ ﬁ
X 2. ATSHEH
X 3. YT (Vacuoles)
4 odeh (Plastids)

O Sl § O FiF T FIRET S uew # 9T FJ §2

Question ID : 7518977784
Option 1 ID : 75189731133
Option 2 ID : 75189731136
Option 3 ID : 75189731135
Option 4 ID : 75189731134
Status : Answered
Chosen Option : 4
Q.21 Pradhan Mantri Bhartiya Janaushadhi Pariyojana (PMBIP) kendras added nutraceuticals to their product basket in
March 2022. Which of the following is NOT included under nutraceuticals?
Ans X 1. Protein powder
« 2. Dry fruits
X 3. Immunity bars
X 4. Vitamin supplements
Question ID : 7518979362
Option 1 ID : 75189737445
Option 2 ID : 75189737448
Option 3 ID : 75189737446
Option 4 ID : 75189737447
Status : Answered
Chosen Option : 2
Q.22 : ¢
o &7 7 Fa-dr 7 3 T TETTF AT FeT g7
Ans K et
v 2 FEH
X3 gdar
X4 TR
Question ID : 75189712155
Option 1 ID : 75189748620
Option 2 ID : 75189748618
Option 3 ID : 75189748619
Option 4 ID : 75189748617
Status : Answered
Chosen Option : 2
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Q.23 ot iy ¥ 27 A 2022 A # HEifoE AW aivw guw 300 dsfHen gAn # el @ Afger
e e e a1?
Ans .
X1 = g BT
A2 et o
X s T Rrem
Question ID : 75189793438
Option 1 ID : 75189737389
Option 2 ID : 75189737392
Option 3 ID : 75189737391
Option 4 ID : 75189737390
Status : Answered
Chosen Option : 1
Q.24 Thres starements are given followed by three conclusions mimbered I T and OT. Assuming the statements o be true.
even if they seem to be at variance with commonly known facts, decide
which of the conclusions logically follow(s) from the statements.
Statements:
All creepers are vegetables.
All vegetables are fruits.
Some fruits are flowers.
Conclusions:
I. Some creepers are flowers.
II. Some fruits are creepers.
L. All vegetables are flowers.
Ans 1. Only conclusion II follows
X 2. Only conclusions IT and III follow
X 3. Only conclusions I and IT follow
X 4. Only conclusions I and III follow
Question ID : 75189711680
Option 1 ID : 75189746720
Option 2 ID : 75189746719
Option 3 ID : 75189746717
Option 4 ID : 75189746718
Status : Answered
Chosen Option : 1
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100, 90, 81, 73, 66, 60, 55, ?

Q25 3z Fwwr #1 9ua ST, S A TE ST F e BEA (?) F TS W A

Ans x 1. 50
v 2. 51
X3 52
<4 53
Question ID : 75189711602
Option 1 ID : 75189746405
Option 2 ID : 75189746406
Option 3 ID : 75189746407
Option 4 ID : 75189746408
Status : Answered
Chosen Option : 2
Q26 1h Economics. which of the following curves is ‘inverse U-shaped*?
Ans 1. Long run average cost curve
X 2. Average variable cost curve
X 3. Short run marginal cost curve
« 4. Marginal product curve
Question D : 7518978557
Option 1 ID : 75189734227
Option 2 ID : 75189734225
Option 3 ID : 75189734226
Option 4 ID : 75189734228
Status : Answered
Chosen Option : 4
Q.27 st P, Q, R, S, T 3T U & @l & ofeTS HoR-3(eT &1 S HaeT &7 37 &l ¥ o&r g1 R el
THF AT R TR P, ST Sy AT Q e &1 T, U & ©rer 71 g Seat #F med o sie
i
Ans x 1. R
2T
<3P
v 4 Q
Question ID : 7518979125
Option 1 ID : 75189736500
Option 2 ID : 75189736498
Option 3 ID : 75189736497
Option 4 ID : 75189736499
Status : Answered
Chosen Option : 4
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Q.28 If one angle of a quadrilateral measures 120° and its remaining three angles are equal in measure 10 one another. then
the measure of each of these three remaining angles is equal to

Ans X1, 9Q°
« 2. 80°
23 60°
2<4.110°
Question ID : 75189711994
Option 1 ID : 75189747976
Option 2 ID : 75189747974
Option 3 ID : 75189747975
Option 4 ID : 75189747973
Status : Answered
Chosen Option : 2
Q.29 oiwr = wger A T B & 37 & O 58 9 7| 8 TY Tger B H 34 w7 § A¥ W A N 3H & &
F HT 16 aF §1 A ¥ B B TEA 37 F Hgwa FT 2
Ans X1. 36 : 52
X25:13
39 :25
x4 25:9
Question ID : 75189711790
Option 1 ID : 75189747159
Option 2 ID : 75189747160
Option 3 ID : 75189747157
Option 4 ID : 75189747158
Status : Answered
Chosen Option : 1
Q30 T F ¥ FiF @, 39T RITATRT F T2 (seedling) F w7 F FwlT @ 2
Ans -
X 1. SISATE0T (Seed coat)
X 2. §1997 (Cotyledons)
v 3 80T (Embryo)
X 4. HOTAY (Endosperm)
Question ID : 75189710253
Option 11D : 75189741011
Option 2 ID : 75189741009
Option 3 ID : 75189741012
Option 4 ID : 75189741010
Status : Answered
Chosen Option : 1
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Q.31 Which of the options given below correctly describes the nature of the roots of the quadratic equation
¥ +4y3x+3 =07
Ans X 1. rational and unequal
X 2. irrational and equal
X 3. rational and equal
« 4. lrrational and unequal
Question ID : 75189711974
Option 1 ID : 75189747895
Option 2 ID : 75189747893
Option 3 ID : 75189747894
Option 4 ID : 75189747896
Status : Answered
Chosen Option : 4
Q.32 Frmifra wF & T ffem, WY 3 YT 9T 9T T T T 3w S
foaiifire &% 9% F e TEUTE ¥ A XI A & aher f sehet go RewfiEt & T @
e
}3 1o 120
7 120
=% 100
100 85 oo
é 30 | | o
= G0
W
1=
-'g a0 I I I
§
- 4]
e a R s 1 u
Institntions
(TE2 - Number Of Students Passed - Secor g0 REmfol #r o=@, Institutions - TEwm=)
T U, TP R Q St gu RSt £ 5w dew, sevm S s R @ et g g R
& wew § e Hiew &7
Ans 1. 235
X2 234
X3 225
x4 265
Question ID : 75189711654
Option 1 ID : 75189746614
Option 2 ID : 75189746613
Option 3 ID : 75189746616
Option 4 ID : 75189746615
Status : Not Answered
Chosen Option : --
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Q.33 Ahollow cylinder of height h has inner and outer radii of base given as r and R, respectively. The ratio of the curved
surface area 1o the total surface area of this evlinder is:

Ans X 1. h:(R-r—h)
2 h:(h+R-r)
X3 (R-r—-h):r
X4 (R+r—h):h

Question ID : 75189711813
Option 1 ID : 75189747252
Option 2 ID : 75189747249
Option 3 ID : 75189747251
Option 4 ID : 75189747250
Status : Answered
Chosen Option : 2
Q34 gfr m = -9 3k n = 13 &, & 25m?+ 40mn + 161n? = AT AT HIT|
Ans x 1. 81
2 49
#3100
<4 B4
Question ID : 75189711400
Option 1 ID : 75189745599
Option 2 ID : 75189745597
Option 3 ID : 75189745600
Option 4 ID : 75189745598
Status : Answered
Chosen Option : 2
Q.35 , ST T FAUT Hee U eaes U g, N 2018-19 F Fu 3wes § swehr REverdr
33% ot
Ans
X1 TR
2 AT gear
<3 affer
X 4 HgRTSG
Question ID : 75189712154
Option 1 ID : 75189748615
Option 2 ID : 75189748616
Option 3 ID : 75189748613
Option 4 ID : 75189748614
Status : Answered
Chosen Option : 2
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Q.36 F=h i Hr BEr 9 = A 4 R AR 6 R F W W wE §) W F F =, T e B
TIEHL W e W F FA §1 T a1 ve-ary Ao hae e # 39 9 @ g e e

Ans X 1. 45
X2 475
X3 525
v4 5

Question ID : 75189712047
Option 1 ID : 75189748185
Option 2 ID : 75189748188
Option 3 ID : 75189748187
Option 4 ID : 75189748186
Status : Answered
Chosen Option : 2

Q.37 The following graph shows the ratio of the imports and exports of an industry during the period from 2005 to 2011
Study the graph and answer the question that follows,

i8
16 LES/
14 14

12 1.25 /-\ /

¥ -,

0.8 0.85 %

0.60-5%

04 0.35
0.2 o -

Ratio of Valua 0f imports and Exports =

0.0 s
2005 2006 2007 2008 2009 2010 2011

Year ¥

If the imports of the company in 2009 were 420 crore, then how mmich were the exports?

Ans 1. 300 crore
& 2. 400 crore
& 3. 350 crore
X 4. 250 crore

Question ID : 75189711649
Option 1 ID : 75189746594
Option 2 ID : 75189746596
Option 3 ID : 75189746595
Option 4 ID : 75189746593
Status : Answered
Chosen Option : 1
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Q38 Brifred e AT F gFHTU] (nephron) & e B FiF I 9T goE A &7

At X @mob
V2 87 3
X3 @7 ¢
X4 gxd
Question ID : 75189710106
Option 1 ID : 75189740422
Option 2 ID : 75189740421
Option 3 ID : 75189740423
Option 4 ID : 75189740424
Status : Answered
Chosen Option : 4
Q39 =7 FEmr F7 TUa AT, F & T AU F veF e (?) F TUT 9T AW
2, 3,4, 4,6,8, 6,9, 12, 8, 12, 16, ?
Ans x 1. 15
<212
310
x4 20
Question ID : 75189711612
Option 1 ID : 75189746447
Option 2 ID : 75189746445
Option 3 ID : 75189746446
Option 4 ID : 75189746448
Status : Answered
Chosen Option : 3
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Q.40 : A *
frfofea # & #ia & F&r 33 & Ul fwrea g2
Ans 1. 25080
X 2. 19679
~ 3. 73205
x4 27441
Question ID : 75189711949
Option 1 ID : 75189747796
Option 2 ID : 75189747793
Option 3 ID : 75189747795
Option 4 ID : 75189747794
Status : Answered
Chosen Option : 3
Q41 Fwgr 0335 #% (=& P 3 Q ST T §) w9 § W TSR suws R o1 T 17
Ans
xo 32
930
x 2. 332
995
x s 32
895
v 32
990
Question ID : 75189711718
Option 1 ID : 75189746872
Option 2 ID : 75189746869
Option 3 ID : 75189746870
Option 4 ID : 75189746871
Status : Answered
Chosen Option : 4
Q.42 = 2022 &, s =d & (RBI) & AoHwEAT HOT ¥ (& 9T AES W T H AT
HIT I IRENT T i = R
Ans X1 34 AT
X2 335 o
3 I3 9
X4 F3.25 oM@
Question ID : 7518978546
Option 1 ID : 75189734183
Option 2 ID : 75189734184
Option 3 ID : 75189734181
Option 4 ID : 75189734182
. Not Attempted and
Status : Marked For Review
Chosen Option : --
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Q.43 Select the set in which the numbers are related in the same way as are the numbers of the following sets.
(NOTE : Operations should be performed on the whole numbers, without breaking down the numbers into its
constituent digits. E.g. 13 — Operations on 13 such as adding /deleting /multiplying etc. to 13 can be performed.
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is not allowed)

(7. 127, 6)
(8.129,5)

X 1.(9, 168, 3)

X2 (11,144, 9)
« 3 (10,156, 4)
X4 (13,131, 5)

Ans

Question ID
Option 1 ID

Option 3 ID
Option 4 ID

Option 21D :

Status :
Chosen Option :

: 75189711406
: 75189745621
75189745622
: 75189745623
: 75189745624
Not Answered

Q.44 faw ww ET-AAE TTH A, TEl FEN-TAE TF U9 9% & HUNT W gE! WE-TAE @ wEfoT F
Rw v g7at & caamEs emme fifw, #k R o et # @ 59 gE w oaww e, S e
T 9T HLAT

ON : NPMO
IN : HIMO

Ans X 1. AT : CDUV
%2 GO : ARED
3 TO : SUNP
4. DO : ACMN

Question ID
Option 11D
Option 2 ID
Option 31D :
Option 4 ID
Status

Chosen Option

: 75189711598
: 75189746391
: 75189746389

75189746390

1 75189746392
: Answered
03
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Q.45 Name the process through which gaseous exchange takes place across the cell membrane.
Ans X 1. Endocytosis

X 2. Osmosis

+ 3. Diffusion

X 4. Absorption

Question ID : 7518977788
Option 1 ID : 75189731151
Option 2 ID : 75189731150
Option 3 ID : 75189731149
Option 4 ID : 75189731152
Status : Answered
Chosen Option : 3

Q46 g7 2ree - vom, 3w, wow, e, AR, @R S EEE T AR & T @ T 5w e a § B
39H T FH OH @ ¥ A E U, WiaA F o AN 3% e # § wfaA, e F g sy
i T 9T B A9, 3A T S5 ST F S w9 H B Bk, S AT F 9 36 ey T 9WE,
TR IR
afger $r wér feafy #r &2

X1 g F S TF 3R
X2 T & 8 T8 WY
X3 g 3R wIfaar & & a9 H
V4 FAT F g AR =i T W

Ans

Question ID : 75189711434
Option 1 ID : 75189745734
Option 2 ID : 75189745733
Option 3 ID : 75189745735
Option 4 ID : 75189745736

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.47 Raju’s age after 30 years will be 2 times his age 4 years ago. The present age of Raju is:
Ans X 1. 40 years

X 2. 42 years

X 3. 36 years

« 4. 38 years

Question ID : 75189711207
Option 1 ID : 75189744826
Option 2 ID : 75189744825
Option 3 ID : 75189744828
Option 4 ID : 75189744827
Status : Answered
Chosen Option : 4
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Q.48 Ajay is driving in the east divection and covers a distance of 2.3 km and then takes a turn in the left direction and wavels
a distance of 3 km. Further, he funs to the right and travels a distance of 4.5 km, Lastly, he turns to his right and travels
a distance of 3 km. How far is he from the starting peint? (All turns are 90 degree tums only)
Ans X 1. 6 km
« 27 km
X3 5km
X4 8 km
Question ID : 75189711590
Option 1 ID : 75189746358
Option 2 ID : 75189746359
Option 3 ID : 75189746357
Option 4 ID : 75189746360
Status : Answered
Chosen Option : 2
Q.49 100 F& F T FF Azd 1700 §1 S5 296 WA G H @ W AT TAT| SR e A Hrierw|
Ans 2
1 14=%
7
. 1
x213-%
7
. 1
x3 24-%
7
. 2
x4 8%
3
Question ID : 75189711956
Option 1 ID : 75189747822
Option 2 ID : 75189747823
Option 3 ID : 75189747824
Option 4 ID : 75189747821
Status : Answered
Chosen Option : 1
Q50 wWhat is the unit of magnification?
Ans X' 1. cm
X 2. Dioptre
+ 3. It has no unit
X 4. Newton
Question ID : 7518979496
Option 1 ID : 75189737982
Option 2 ID : 75189737981
Option 3 ID : 75189737984
Option 4 ID : 75189737983
Status : Answered

Chosen Option : 3
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O P 3R, T YT F HUR W I 7T G FH Fee 0]
@O D#Y+CSOATU@I&E%NFP%&L#Z (S
0 Faw 9 €, Fs S g 3R S ae F v T B
Ans x 1. m
X2 =Y
o 3. Eﬂ'
X4 Teh
Question ID : 75189711546
Option 1 ID : 75189746182
Option 2 ID : 75189746181
Option 3 ID : 75189746183
Option 4 ID : 75189746184
Status : Answered
Chosen Option : 3
Q.52 37 Rwew & Tua HfAT, Brad Be o sent o 7909 7 F a0 F a7 $r A A9 & T
T F Noa TuE # SR W Een quT & S
KP_LZ P_MZK_B_Z_PB_2Z
Ans X*BKBPNPO
X2BKPPOKP
X3BKBPNKP
v+BKBPNKO
Question ID : 75189710827
Option 1 ID : 75189743305
Option 2 ID : 75189743307
Option 3 ID : 75189743306
Option 4 ID : 75189743308
Status : Answered
Chosen Option : 4
Q.53 ofy dEar 5613742678 & Tcieh fawH 35 1 Sher ST ¥, 3% gode @A 3% € 2 "enn o g, ar
ST UHN & A% TE A A0 § ST AT S0 F g8 3 5 qha fGhaar gem?
Ans x 1. o]
v 210
X3 11
X4 9
Question ID : 75189711633
Option 1 ID : 75189746529
Option 2 ID : 75189746531
Option 3 ID : 75189746532
Option 4 ID : 75189746530
Status : Answered
Chosen Option : 3
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Q.54

AT A@few & G 9w # 220 V Regd AfE anl aea W ey Fegd d6 @ 39aneT e e #
HTTeTeRaT §, AR weat S T 20 W i &1 o sfeae S ar 10 AR, @1 220 V WS F
2t ARt % T T gEY & FAEER FA H waited fre o wwe arer o $r dwar e S

Ans x 1. 220
+ 2 110
#3165
X 4. KR
Question ID : 75189711337
Option 11D : 75189745348
Option 2 ID : 75189745346
Option 3 ID : 75189745347
Option 4 ID : 75189745345
Status : Answered
Chosen Option : 2
Q.55 #fy 3w & wEAsh (SDG) 3BT 39w & ga, oo [Aeet 17 T de - afET wev & T, 16
THES. (SDG) W 3% Wedd F R W IT-TSET 55 F FAT &3 & A9 & forw aver fFw 7w
FET-IR TR F & fawrer 0 €1 S0 TR F 3UR T TA/Hgaad g2t 1 a8 4t F geitga
A ¥ efafEe & & i O 39 @ ve Aof a8 32
Ans x5
1. &g 9T arer (Excellent)
X 2. gfaaet (Aspirant)
X 3. g9l #Ta arelT (Performer)
X 4 FEH T o= I (Front Runner)
Question ID : 75189711095
Option 1 ID : 75189744380
Option 2 ID : 75189744377
Option 3 ID : 75189744378
Option 4 ID : 75189744379
Status : Answered
Chosen Option : 4
Q.56 +
affe gfeetadr affess & 5w sue W= e 22
Ans -
X1 geH
5 2. Hgi
X3 gE
v 4 TS
Question ID : 75189712133
Option 1 ID : 75189748529
Option 2 ID : 75189748530
Option 3 ID : 75189748531
Option 4 ID : 75189748532
Status : Not Answered
Chosen Option : --
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T fE AT GUNE F Teaalus FATS B T S oo
A o\ ARTEOT AT

v S o

X3 Ferg O A

X4 TG LTI

Question ID : 75189712124
Option 1 ID : 75189748493
Option 2 ID : 75189748496
Option 3 ID : 75189748495
Option 4 ID : 75189748494
Status : Answered
Chosen Option : 2

Q.58 fEeay AT ¥ FAT Roae & Of2an seinEs Reaa # e s 9t F9r 2ar 32

AN X 1. flreaY FoiRTES FT WIeT HIST 39w 21T 2
v 2 e FORIEE 1 Fhe HTelT 3cde g 2
X 5 fBeaT FANEE T F1e FIET 397 FaT 2 2l
X 4. TeaR FeIRTSS FT ST 38T 3c9ea 2l &

Question ID : 75189711879
Option 1 ID : 75189747514
Option 2 ID : 75189747515
Option 3 ID : 75189747516
Option 4 ID : 75189747513
Status : Answered
Chosen Option : 3

Q.59 The volume (in em®) of a right circular cone, whose slant height is 28 cm and mdius of base is 21 cm, is . (Take

2z
=)

Ans X 1. 30808
2 32344[7
X3 161747
X 4. 38808

Question ID : 75189711984
Option 1 ID : 75189747936
Option 2 ID : 75189747934
Option 3 ID : 75189747935
Option 4 ID : 75189747933
Status : Answered
Chosen Option : 3
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Q.60 100 RezEah Hr v Fam & 24 Tegnit affiver @ e 3w god W= §, Seth 18 Reanf e ¥
FH 3F 9T H ¢ hae et ufiser @ wm, ofrw 31fhE @ e e ureg w2

Ans x 1. 5?

X2 B4
3. BB
< 4. B
Question ID : 75189710745
Option 1 ID : 75189742980
Option 2 ID : 75189742977
Option 3 ID : 75189742979
Option 4 ID : 75189742978
Status : Answered
Chosen Option : 3
Q81 garoit $r v Rfdas Fear # Aftaw 55 AR AT 58 §) agaw wd Al
Ans x 1. 50
X2 52
3 49
x4 51
Question ID : 75189711771
Option 1 ID : 75189747081
Option 2 ID : 75189747084
Option 3 ID : 75189747082
Option 4 ID : 75189747083
Status : Answered
Chosen Option : 3
Q.62 Mohan drives 6 km towards the south and takes a turn to the right at 90°, After driving a distance of 3 km. he tuns to
the right and drives further 3 km. Now, in which direction is he from the starting place? [All mins are 20 degree mns
onlyy
Ans 1. South-West
# 2. South-East
X 3. North
2 4. South
Question ID : 75189711577
Option 1 ID : 75189746308
Option 2 ID : 75189746307
Option 3 ID : 75189746305
Option 4 ID : 75189746306
Status : Answered
Chosen Option : 1
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Ans X 1. 60 vears

X 2. 62 years

Q63 What is the age limit for a judge of the Supreme Court of India?

X 3. 70 years
« 4. 05 years
Question ID : 75189712168
Option 1 1D : 75189748671
Option 2 ID : 75189748672
Option 3 ID : 75189748669
Option 4 ID : 75189748670
Status : Answered
Chosen Option : 4
Q.64 F¥ wf FAR 30 F AT HOE-HT A W HE-HT AT T §, FrAd FUROT (pricing) 1 7
A 71 Fgenar 7
Ans . . .. .
v 1. HHT fa8g (Price discrimination)
- 2 = . "
X2 T 91¢ 9$f&er (Two Part Pricing)
X3 frAg aT (Price mechanism)
X 4 HIAT & (Price elasticity)
Question ID : 75189710567
Option 1 ID : 75189742267
Option 2 ID : 75189742265
Option 3 ID : 75189742266
Option 4 ID : 75189742268
Status : Not Answered
Chosen Option : --

g #r e = 7 $ifET
Ans 1. 36 km/h

x2 37% km/h

<3 35 km/h
X440 km/h

Q.65 uw YEEmEr 30 km/h Fr =TT T 6 TE, TUT 45 km/h F T T 4 TE T FET 1 57 10 T F e

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

75189711764
75189747054
75189747056
75189747053
75189747055
Answered

Chosen Option : 1
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Q.66 15 o wfarr awh F=et A 3T 5 0 gfawr Al el B & wAw % @y aRaEceie gehe & & we
# @ I W, 5 FEterd # IRa uww g
Ans X 1. HATA
X2 1:2 % Had A
X3 1:17%% AT A
v 4 e
Question ID : 75189711180
Option 1 ID : 75189744717
Option 2 ID : 75189744719
Option 3 ID : 75189744720
Option 4 ID : 75189744718
Status : Answered
Chosen Option : 4
Q.67 =w v &, TEElTE T TEg H A & 7 @l At 35 @ & % aet F e anwt
W FTAT Y FTaE (AT AT &1 A F AT FI AT Fel FT HET AT HTH I B
FEagds|6| 8 | 4 | + |5 # (%[ 2|$|1]|*|7|9|+|@
FT S|U|T|{W|N|P|V|D|AZ|[JIM|[O|M|Y
e
(i) Tt uger 3y 3ifaw go TEaw £, O AW v #1999 @ T S S|
(i) afE vger Tew wF i § S TE Uew # © & T H Fesg [Har e
(iii) =fg 9z AR @Y ST vEH TEAW £, o T TEF F o« F T F FEag A Swem
o= & fow % w7 gem?
6% %85
Ans X 1. SVAUG
X 2. SUAV©O
v 3 SVAU@
x 4+ OQUAV@
Question ID : 75189711568
Option 1 ID : 75189746269
Option 2 ID : 75189746272
Option 3 ID : 75189746270
Option 4 ID : 75189746271
Status : Not Answered
Chosen Option : --



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247 Eooale Play

Q.68 A shopkeeper allows 18% discount on the marked price of an article and still makes a profit of 23%. If he gains Z1,840
on the sale of the article, then what is the marked price of the article?

Ans 1 212,000
X 2. 215,000
X 3. 39,840
X 4. 210,000

Question ID : 75189712040
Option 1 ID : 75189748157
Option 2 ID : 75189748159
Option 3 ID : 75189748160
Option 4 ID : 75189748158
Status : Not Answered
Chosen Option : --

Q69 i v @t v HT Y WA S e W AT Y LA B wEe # v R
(?) F 7T W Foraar A Hwem?
3+ 10X 5-7+10%2 =?

Ans X 1 45
v 2 47
X3 50
x4 48

Question ID : 75189711640
Option 1 ID : 75189746558
Option 2 ID : 75189746557
Option 3 ID : 75189746560
Option 4 ID : 75189746559
Status : Answered
Chosen Option : 3

Q.70 e fefr o & @rUROT =TS 9T 27,000 F KT oA ¥1 3 I @6, 9F &% H 24,000 F A B g,
7g TR P 3R BT T gove F HRE AT & &9 A gAEiieg # T § wor B e e &
fafer & 5 av Fr FART W, 77 T F e F F e 3F F 24,350 F e F | @ o
wg e

Ans X1 49
2 5%
X3 6%
<40 F9

Question ID : 75189711748
Option 1 ID : 75189746989
Option 2 ID : 75189746990
Option 3 ID : 75189746991
Option 4 ID : 75189746992
Status : Not Answered
Chosen Option : --
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Q.71

Ans

2% —10x2"+16 =0 & 7= 77 ¥?
X111, 8
X2 2 8
X3 2 3
41, 3

Option 11D
Option 2 ID
Option 3 ID
Option 4 ID

Status

Question ID :

75189711796

: 75189747183
: 75189747181
: 75189747184
: 75189747182
: Not Answered
Chosen Option :

Q.72 =im= (3.7)° — 3 x (3.7)2 x (0.7) + 3(37) x (0.7)% — (0.7)° T=faf@a & & B away &7

Ans x 1. 10
v 2. 27
X3 30
x4 35
Question ID : 75189711717
Option 1 ID : 75189746866
Option 2 ID : 75189746868
Option 3 ID : 75189746865
Option 4 ID : 75189746867
Status : Not Answered
Chosen Option : --
Q.73 = Bl 9Tg TS Ieae 2907 § WEA 21 em R g W Tud vw Rig W @ 5w § & sue
sfafea 2907 % % 7 om R ghH W AT ¥ W, FE @ET I6G H WEEEHT U0 F FAEA 14 cm
Fr el o & e ¥ ¥ N ¥ gt & gl (om &) 9 S
Ans X1 _ 3
X2 _6
3 46
X4 43
Question ID : 75189712175
Option 1 ID : 75189748699
Option 2 ID : 75189748698
Option 3 ID : 75189748697
Option 4 ID : 75189748700
Status : Not Answered
Chosen Option : --
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combine to form

Ans X 1. a soluble acid
& 2. a soluble ionic solid
# 3. an insoluble acid

" 4 an insoluble ionic solid

Q.74 Precipitation reactions occur when cation of one reactant and anion of second reactant, found in an aqueous solution,

Question ID : 75189711878
Option 11D : 75189747509
Option 2 ID : 75189747510
Option 3 ID : 75189747511
Option 4 ID : 75189747512
Status : Answered
Chosen Option : 4
Q.75 AT T # A=t 123 e ¥ Rl sreaeyr sftfaafia s= & affa gaw = 87
Ans - *
A SUTAAAT
X 2. IORTSEOfr
& 5 JreEaia
X 4 GITehTsT 3yeTaT
Question ID : 75189712164
Option 1 ID : 75189748654
Option 2 ID : 75189748655
Option 3 ID : 75189748653
Option 4 ID : 75189748656
Status : Answered
Chosen Option : 3
Q76 B & ¥ 7 T w7 T FEET F S9SN (jurisdiction) ¥ aea wET T 22
Ans X 1. FE=GAT
X 2. A TR
w 3. ﬂl’ﬂﬂnﬂ U SRR
X4 FAeH HR TG FT TAI0T
3
Question ID : 75189712172
Option 1 ID : 75189748686
Option 2 ID : 75189748685
Option 3 ID : 75189748688
Option 4 ID : 75189748687
Status : Answered
Chosen Option : 3
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Q.77

o & o =7 @1 Sty T A8 W FSEr T o9r?
Ans Kw.mw
X 2. RITAT FT
w&ﬁ%ﬂq—}q
X‘"ﬁéﬁﬂiﬂ'

Question ID : 75189710300
Option 1 ID : 75189741200
Option 2 ID : 75189741199
Option 3 ID : 75189741197
Option 4 ID : 75189741198
Status : Answered
Chosen Option : 1

Q78 o =wges & &= @0l Fr AT 1100, 55° AT 125° FFEE AT P A AT @l
Ans X 1. 60°

X 2.90°

#<3110°

4 70°

Question ID : 75189711993
Option 1 ID : 75189747970
Option 2 ID : 75189747971
Option 3 ID : 75189747969
Option 4 ID : 75189747972
Status : Answered
Chosen Option : 4

Q.79 wiE T HiEe S FE wAg 93 ol & fEr o Aoy e €1 R et 9w & e 9

Ans X 1.
77 faffesr U=at & &9t & 9= Tu¥ 7 FROT §F 14T B
X 2.
TE HIAE AT F HHEAF ¢ A HT FROT FAT &
< 3.
e & e arer @t & e et 7 FF aut (el 9% SI9R HET 95T §

o 4.
TR AT W AT FT FEAIGET FART &7 (upstream reservoir area) H g frar =mar #

Question ID : 75189710142
Option 1 ID : 75189740568
Option 2 ID : 75189740566
Option 3 ID : 75189740565
Option 4 ID : 75189740567
Status : Answered
Chosen Option : 3
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Ans

1 (m? - n2)2 = 16 mn
X2 (m? - nz}z =4 mn

X3 m?+ n®=4mn

X4 m2—n?=16mn

Q.80 gfr cotA+cosd=m 3T cotd—cosd=n § A =R T T T oo ?

Question ID :

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

Chosen Option :

75189711834
: 75189747335
: 75189747334
: 75189747336
: 75189747333
: Not Answered

Ans

Q81 sz gmmamst- L, M, N, O, P 3t Q & & 5oi% &1 s Rive & =08 SR & oF g 38 oo

& AfeER 1 TACT @ TS T $ OF F-IE R # @ §, By 3 58 w4 & e afed
TET &1 L #r AT Rve F sgEr, N & 8 Ag A Re @ g1 O # Ame B # 51gd, P ¥ 8% e
e e @ ¥, oft WiEER W A @ §1 M Fr A e B 53 offEr = a@er @1 Q #roamse

R #r 57 guER F @ 1 B # ¥ Rewh Ame RAve & 598 FFeER # g 87

X1 0
X2 P
&3 L
K4 N

Question ID
Option 1 ID

Option 3 ID
Option 4 ID
Status

: 75189711447
: 75189745785
Option 2 ID :

75189745788

: 75189745787
: 75189745786
: Not Answered
Chosen Option :

Q.82

Ans

The sky appears blue due to:

X 1. dispersion of light of higher wave length
X 2. scattering of light of higher wave length
X 3. dispersion of light of lower wave length

« 4. scattering of light of lower wave length

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status

Chosen Option :

: 7518979533

: 75189738131
: 75189738129
: 75189738132
: 75189738130
: Answered

2
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Ans X 1.1950 km

Q.83 g ieemfEan, v & wHw WA 3R B F Toen o wear § 3 FAw 85 km 3T 105 km wiy 5 Fr @
¥ THgE A AN et § 59 ¥ vehgmt o e £ O og o s € B B ¥ = oemd &, A & W
TEETEr F geer & 200 km 30 g @@ # 71 A T B F @ & gfr 7 AAw

X3 ToFd T |
X4 g gue o

#< 21800 km
x 3 2000 km
v 41900 km
Question ID : 75189711760
Option 11D : 75189747037
Option 2 ID : 75189747038
Option 3 ID : 75189747040
Option 4 ID : 75189747039
Status : Not Answered
Chosen Option : --
A8 weamédr-tsw (HIV-AIDS) RToy &1 Hsharor & & eRar B
A X T |
v gy e ¥

Question ID :
Option 11D :
Option 2 ID :
Option 3D :
Option 4 ID :

Status :

Chosen Option :

75189710228
75189740912
75189740909
75189740910
75189740911
Answered

2

Q85 gSaturated carbon compounds are normally:
Ans X 1. less stable than unsaturated compounds

X 2. having a double bond between carbon atoms
« 3. less reactive than unsaturated compounds

X 4. having electrostatic force of attraction

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

7518979595

75189738377
75189738380
75189738378
75189738379

Answered
Chosen Option : 3
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% GreET (Solung)' 3eEE R T=T & FATIT AT §7
Ans . TUTIET mr
X2 Fem g
X3 Beaq gawU

X 4 TEATIS weEr

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

75189710538
75189742149
75189742151
75189742150
75189742152
Answered

1

Ans 1. 125%
X 2. 22504

K3 25%
X 4. 150%

Q.87 The length of each edge of a cube is increased by 50%. The percentage increase in the surface area is:

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

75189711731
75189746922
75189746924
75189746921
75189746923
Answered

1

Q.88 ===y 2021 &,
e amar wn, = T F TENer® wEER #R 3% TAed HASEE FET

Ane X 1. TE EfEar R (Smart India Hackathon)
v 2. gaedta (Toycathon)

X 3. @E Toredey (Code Gladiators)
x4

T ARSI Hed YUTe! 9T SRS U8 3iHea el s Hoedell gg ded

I SBIT TIFHT FFATA (Great Indian Alexa Hackathon)

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

: 7518974146

: 75189716581

: 75189716583
: 75189716582
: 75189716584
: Not Answered
Chosen Option :
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8 600,(aq) + 12H,0(1) — >4 C.H,,04(aq) + 60,(aq) + 6H,0()

& 715 AfEtR & R v ¥EfRT REEE &1 T F:
Ans X iR arareRoT

X 2. F== ATTHTA

v o gI-gET HR FER

<4 F== 2Id
Question ID : 7518979612
Option 1 ID : 75189738448
Option 2 ID : 75189738447
Option 3 ID : 75189738445
Option 4 ID : 75189738446
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